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1. Berauciure:
a) log, 16; 6) log, 128; B) log, 81; r) logs 125; 1) logs 1;
1 1 1
¢) logy 7 x) logs o 3) log, 2; n) logg, 4; x) logy o
1) logs 0,04; M) 1g0,001; i) log 5 8; 0) logys4; ) log,, 0,008.
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2. Beraucimmre:
1 log%5
a) 2loeT, 6) (§> : B) 1087
F) 52+10g53; ,H\) 101—lg5; e) 6log6 3+logg 5
}K) 42 log, 7; 3)

3. Broruncaure:

a) lg125+1g8;

B) logiy 2+ log;, 8 + log, 9;

4. Bpruucsunre:

1 310gl6
57410g53; I/I) <§> 2 .
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6) logs 5 — logs —;
) log 0g327,
r) lg34 —1g2 —1g170.

(-G

6) log, 36 — 2log, 3;
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5. Boruuciure:

) lg8+1g 18 5) log; 64
21g2 +1g3’ logs 4’
) lg2+21g3 0 log1 5 |
lg27 +1g 12’ log1 625
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6. Haiiure x, eciu BBIIOJHEHO PABEHCTBO:
1 1
a) log;z = 2log; 3 + 5 log; 49 — 3 log; 27;
1
6) log; x = 3log; 2 + 3 log; 125 — 4 log, 3.
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7. Beraucaure:

a) log 512 —log, 9; 6) log, 5 128;
B) log 5V18 —logs 2; r) log,; = (125\‘75) :
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8. Buruncaunre:

a) 27—%10g3 %—log272; 6) 5log\/g4—log5 24-2logys 3;
b) 71g1ég72; r) 15 log% (\5/7 % . 5log s \3/4T9) .
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9. Buruncaure:

\/1og§ 341 —log,9 — log, (12\/§> .
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10. Boraucimre:
61og, 125 - logs 2 + 2'875'87.

11. Berauciure:
((1- log3 7) logy, 2 + log, 7) - 3loss 14,
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Boruncanre:

Boruncanre:

Berauciure:

Boruncaure:

Boruncaure:

Broruncanre:

Buruncanre:

Boruncanre:

Berauciure:

log, 40 log, 5

lg 2 loggy 2

43—log5 10 | 410g5 2

log, /5 (3\/5-1- 2\/6> +log, 5 (3\/§ — 2\/6) :
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a) log, log, \/ V/2; 6) logslog, \3/ V3.

(27@ + 5log25 49) (81@ o 8log4 9)

1
3 + Hlog1625 .« Rlogs 3

3610g65 + 101—lg2 o 310g9 36‘

(81%—% logo 4 4 2508125 8) - 49'872,
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Boruncanre:

1 =3

Ussecrno, uro log, 27 = b. Haityure log ;5 v/a.

M3BectHO, uTO 1g5 = a u lg 3 = b. Haitnure logs,, 8.
WzBectro, uto lg2 = a u log, 7 = b. Haitoure 1g 56.
U3zBecrro, uto logy, 2 = a u logy, b = b. Haitaure logg, 27.

M3BectHO, uTO log, 27 = a. Haitaure logg 16.

MsBectHo, uTO 1g2 = a u lg 13 = b. Haitaure logs 3,38.

Berauciure:
logs 12 — logs 7 - log; 5 - logy 4.
Boruncanre:
logs 2 - log, 3 - logs 4 - logs 5 - log; 6 - logg 7.
Boruncanre:
Broruncanre:

a) lgtg1°-1gtg2° - lgtg3° - ... - lgtg88° - 1gtg 89°;
0) lgtg1® +1gtg2° +1gtg3° + ...+ 1gtg88° + lgtg 89°.
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32. Cpasuure:

2 1
a) logs:3 m —; 6) logyd m 2-;
5 3 2 3

B) 385 Ty 7lo8s 3, r) log, 5 u logs 32.
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